#### THE CITY OF ROCHELLE

**Ogle County, Illinois** 

#### **RESOLUTION**

NO. \_\_\_\_

# A RESOLUTION ACCEPTING BID PROPOSALS FROM ANIXTER, WESCO AND RAUKMAN/PRYSMIAN FOR ELECTRICAL MATERIALS

JOHN BEARROWS, Mayor ROSE HUERAMO, City Clerk

TOM McDERMOTT
BIL HAYES
KATE SHAW-DICKEY
DAN McDERMOTT
ROSAELIA ARTEAGA
BEN VALDIVIESO
City Council

Published in pamphlet form by authority of the Mayor and City Council of the City of Rochelle
Peterson, Johnson, and Murray, LLC, City Attorneys
1301 W. 22nd Street – Ste. 500 Oak Brook, Illinois 60523

# CITY OF ROCHELLE Ogle County, Illinois

RESOLUTION	NO.
------------	-----

#### A RESOLUTION ACCEPTING BID PROPOSALS FROM ANIXTER, WESCO AND RAUKMAN/PRYSMIAN FOR LINE CONSTRUCTION MATERIALS

**WHEREAS**, Section 7 of Article VII of the 1970 Constitution of the State of Illinois provides that a municipality that is not a home rule unit shall only have the powers granted to them by law and as such the City of Rochelle, Ogle County, Illinois being a non-home rule unit pursuant to the provisions of said Section 7 of Article VII, and may exercise only the powers expressly granted by law; and

**WHEREAS**, the Illinois General Assembly granted non-home rule municipalities broad authority to "pass all ordinances and make all rules and regulations proper or necessary, to carry into effect the powers granted to municipalities." 65 ILCS 5/1-2-1; and

**WHEREAS**, while "non-home rule municipalities have the authority to enact ordinances, such ordinances may in no event conflict with state law or prohibit what a state statute expressly permits . . . A local ordinance may impose more rigorous or definite regulations in addition to those enacted by the state legislature so long as they do not conflict with the statute." (*Village of Wauconda v. Hutton*, 291 Ill. App. 3d 1058, 1060 (1997)); and

**WHEREAS**, the City of Rochelle ("City") operates an electrical division which provides electrical service to local businesses and residents as part of Rochelle Municipal Utilities ("RMU"); and

**WHEREAS,** RMU Electrical Department sent an RFQ for line construction materials to a list of its vendors; and

**WHEREAS,** a total of six quotes were collected from various vendors and BHMG has recommended the City accept the bids from Anixter, Wesco and Raukman/Prysmian, (a summary of the recommended quotes is attached as Exhibit A); and

**WHEREAS,** the purchase of line construction materials is excluded from the requirements of competitive bidding pursuant to Section 2-373 of the Rochelle Municipal Code which states that "contracts for utility related goods and services" which by their nature are not adapted to competitive bidding and therefore are excluded from the requirements of such; and

**WHEREAS**, it has been determined by the Corporate Authorities of the City of Rochelle that it is in the best interest of the City and its residents to accept the proposals from Anixter, Wesco and Raukman/Prysmian in the amount of \$1,132,065.21 for the line construction materials.

# BE IT ORDAINED BY THE MAYOR AND CITY COUNCIL OF THE CITY OF ROCHELLE, ILLINOIS:

<u>SECTION ONE</u>: That the City hereby incorporates all of the recitals above into this Resolution as if fully set forth herein.

<u>SECTION TWO</u>: The bids submitted by Anixter, Wesco and Raukman/Prysmian in the amount of \$1,132,065.21 are hereby accepted. The City Manager or his designee is authorized to sign the respective purchase orders consistent with this Resolution and subject to review and revision by the City Attorney.

<u>SECTION THREE</u>: If any provision of this Resolution or application thereof to any person or circumstance is ruled unconstitutional or otherwise invalid, such invalidity shall not affect other provisions or applications of this Resolution that can be given effect without the invalid application or provision, and each invalid provision or invalid application of this Resolution is severable.

<u>SECTION FOUR</u>: Where the conditions imposed by any provisions of this Resolution are more restrictive than comparable provisions imposed elsewhere in any other local law, ordinance, resolution, rule or regulation, the regulations of this Resolution will govern.

SECTION FIVE: The City Clerk shall publish this Resolution in pamphlet form.

APPROVED THIS 15th day of October 2024

<u>SECTION SIX</u>: This Resolution shall be in full force and effect from and after its passage, approval and publication in pamphlet form as provided by law.

	MAYOR
ATTEST:	
CITY CLERK	

#### EXHIBIT A



BHMG Engineers, Inc.

9735 Landmark Parkway Drive Suite 110A St. Louis, MO 63127

Blake Toliver

September 16, 2024

Superintendent of Electric Operations

E: btoliver@rmu.net P: 815.561.2034

Dear Mr. Toliver:

RMU received competitive quotes for long lead material procurement, as part of the Ritchie-CenterPoint-Twombly 34.5kV line project. A total of six (6) quotes were collected. Below is a summary of the recommended quotes:

Supplier	Manufacturer	Manufacturer Part #	QTY	Unit	U	nit Price	Extended Total		Lead Time (W)
Anixter	MacLean	H29C10031MXSS016	18	EA	\$	288.80	\$	5,198.48	15
		B2901054B11074AX	261	EA	\$	514.87	\$	134,381.68	15
		S14080038MXSS019	105	EA	\$	99.96	\$	10,495.43	8
	Priority W&C	397.5-TP-IBIS	165300	FT	\$	2.46	\$	406,919.36	16-18
	AFL	DNO-8234	56920	FT	\$	1.83	\$	103,879.00	8-10
	Priority W&C	Merlin5695R	108000	FT	\$	0.84	\$	90,391.30	3-4
	Southwire	Raven6095R	36000	FT	\$	0.32	\$	11,347.83	3-4
Wesco	DURA-LINE	10012520	12300	FT	\$	3.34	\$	41,082.00	5
	ATKORE	2024 6" EB35 X 20'	270	EA	\$	120.56	\$	32,551.20	8
		924905	12	EA	\$	145.00	\$	1,740.00	2-3
Raukman	Prysmian	UT.4085273.2	2330	FT	\$	21.82	\$	50,830.67	28+
		UT.4085273.1	12395	FT	\$	16.68	\$	206,749.47	28+
		PCT15M5CF, CL750DN	30	EA	\$	95.81	\$	2,874.30	2
		PCT35M5CF, 500CU2L	96	EA	\$	139.95	\$	13,435.20	2
		15IPES3-NG-BSCL750-NP	6	EA	\$	293.63	\$	1,761.78	4-6
		35IPES1-NG-BSCL500-NP	42	EA	\$	438.75	\$	18,427.50	2-4
	Grand Total						\$	1,132,065.21	

The quotes were reviewed on cost, lead time, manufacturer origin, and ability to satisfy requirements established in the RFQ. If placed on order as soon as possible, most material should arrive by end of year. Three (3) separate POs would be required from Rochelle for Anixter, Wesco, and Raukman/Prysmian. It is the recommendation of BHMG to award these vendors the specified material to satisfy the requirements of these projects.

Should you have any questions concerning the bids or the project, please do not hesitate to contact us.

Sincerely,

Matt Frederick Project Manager

not Freder

bhmg.com 636.296.8600

Empowering teams that develop successful relationships for the future.